Division par Puissances de Dix (E)

Trouvez chaque quotient.

81 +103%= 2101 =

28 - 107% = 36 = 1072 =
72 +~1073 = 57 ~1073 =
7+1073%= 8+101=

7+1073= 27 +107% =
33+-10"1= 5103 =

37 +1073 = 14 +10"1 =
32 +10"1= 65+ 1072 =
84+101= 44 + 1072 =
58 =101 = 53+1073%=

MathsLibres.Com




Division par Puissances de Dix (E) Solutions

Trouvez chaque quotient.

81 +107°=81000 2+10"'=20

28 +107%2=2800 36 +107%2=3600
72 +1073=72000 57 +1073 =57 000
7 +1073=7000 8+10"'=80

7 +1073=7000 27 +107%2=2700
33 +107'=330 5+1073=5000
37 +1073=37 000 14 + 107 =140

32 +1071=320 65+ 1072 =6 500
84 + 1071 =840 44 + 1072 =4 400
58 + 1071 =580 53 +107*=53000
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